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MAT1341 C : Instructor Monica Nevins
Monday, January 23, 2017
Test #1 : diagnostic test DGD #:

Duration: 75 minutes

Family name:

First name:

Student number :

Please read the following instructions carefully.

e You have 75 minutes to complete this exam.

e This is a closed book exam. No notes, calculators, cell phones or related
devices of any kind are permitted. All such devices, including cell phones
must be stored in your bag under your desk for the duration of the exam.

e Read each question carefully — you will save yourself time and grief later
on.

e The first 10 questions are multiple-choice, worth 1 point each, with no par-
tial credit towards an incorrect answer. Record your answers to the
multiple choice questions into the table below.

e The final question is long answer and worth 3 marks. You must provide
a detailed solution, written clearly, with appropriate justification,
to obtain full marks.

e Where it is possible to check your work, do so.

e Good luck!
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1. What is the projection of the vector v = (—2,4) onto the vector @ = (3,1)7
Answer: proj;(v) =

1 2
A —=(-2,4) D. =(-1,2)
B, L@ E. (—15—5)

@—;3,1) F. —é(—lﬂ)
Ve ((2H-(3,0)= -(,44~-Q
o= ;a0 (3\)5— (a1 )= 1o

. VAo -2 -\
o projy(V)s vy g = (31 = "3,

a\\‘

2. What is the angle between the two vectors (v/3,0,1) and (3,2,v/3)?
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3. Which of the following is a set of parametric equations for the line passing through the two
points (—1,3,2) and (1,7,0)7

A z=-1+ty=3+T7t,z=2 teR D. z=2t,y=4t,z=-2t teR
B. 2=—-s+ty=3s+T7t,2=2s s,teR@:1+t,y:7+2t,z:—t teR
C. z=—-14t,y=34+10t,2=2+42t teR F. x=-142t,y=3+4t,2=2+5t teR

divecton vedrev: (-\,3,2)—(1,73,0)=(-3,-4,Q)
(or an3 mu\’ne\g -\Mucot)

This elimingks A B C, F, whdn do not

\nave o A Ldon yedev In ¥ Covredr d\md\on.

D dote nok eass -\'\r\m\JJ\n (13,0

E: ﬂ—ﬂx&{g :LCR) W Covrtdk

4. Which one of the following statements about the two lines

1 3 2 2
L, = —1| +s (0| |seR and Lo=< [-5| +¢t| 1| |teR
—2 2 8 —1
is true?

A. L; and L, intersect at the point (1, —1, —2). Wh en ‘l: q q_s:
B. L and L, intersect at the point (10, 1,4). We Ma“ .

(

(
C. L; and L, intersect at the point (10, —1, —4). 5 16}
@and Ly intersect at the point (10, —1,4). \—‘I l } 3[:l z \_L;

E. L, and L, are orthogonal. -8

NFé f;.;ld\jgjfliaialﬁ s 4 makans ' ahg 2 10
Fhe Gvweponding poins equel [— s]” q[l}: [":
X |+33= al b ,
y: - - g+l = 4:d w»“d‘\:\mgom’.l
- 9 _2_415-"'“‘ tnkafedow .
2 - -2 +ds -t - 2s5:-49412=6 4_
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5. Which of the following is a Cartesian equation for the plane passing through the three points
(—=1,2,0), (1,4,1), and (1,1,7)?

93—4y—22:—13 D. 2r+2y+z=13

B. 13z — 10y — 6z = —33 E. z24+y+72z=1
C. —x+2y="7 F. bx+4y—22=3

We ?\Nl ol d\r&dwv\ vedevT : 50 '“N. Car\rw(bm
(-\, 2,00 = (L4, = (-1,-2,-1) equahrn .
("‘,a,o)-(‘lll:‘) = (—2,[,':” /SY-le-G%:J

Therehr o novenal vedero £, sorvie & Plvg 1
(-2,-2,-1) (-1,2 00 Ho P4 .3
~ ! ! - _ a)_ L(G)_ 7
(-2' ‘, -:H ’ d: —IS IZ( Jq

s 15%k-13y-bE=T
— (lj, ’lal‘.b) J<ﬂ 61’“3’ u:'\3

6. What is the distance from the point (2,3, 1) to the plane with equation —3y + 4z = 37

/

A 3 D. 5 K
/5 E. 0 Nn=(0,3,4%)
(Jl 3" ) F. The distance does not exist. ﬁr_

C. 8
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= A )n‘\' GV\-‘W\I-P\GY\O. Lo (01 y /
y mﬁw(h Jo we i ok

Z/— ‘\‘} = (,3,1)- (071,00 = (24,0

wWe want Lerej vl : .
Av. (0/34)-Q4N - —n
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7. Which of the following is a set of parametric equations for the plane with Cartesian equation
r—y+22=37

M r=1+s5y=-1-52=24+2s scR G R \f\Q

P r=2+s—-t,y=-2+s+t,z=1+s+1t steR (9’-2,\-) ¢ P\ang

@ r=24+s+ty=—1+s—-t,z=—-t s,telk
D. z=1+2t,y=—s—t,z=14+s s,teR
%x:2+25+t,y:2—t,z:—s—t s,t € R 4—-(2,9,0) ¢pbh¢

F. z=14+s+t,y=—-s+t,z=1+4+2s s,te€R ‘_

! 0 T dure
XD s [?145‘::}“: _t‘i b %Gc:‘\noynd‘\b A= (1,-, 9.

(B o (sl W BlRee

Chuck C G corvich ,

(2rspk) = (-1¥s-t) val-vy= 3+s-10 v(1+1-2)=3

L,alSedt.

8. Suppose 4,7 and @ are three nonzero vectors in R®. Which of the following statements
is/are true?

(1) (@ - W)T — (- 0)W is a scalar. 3 “\I.S u a V(Cb' . _\_ "mh
(2) The expression (@ x ¥) x (i - ¥) is invalid. a'-\,l IS & NV MW; can ~hd
(3) - (U x W) is a vector. X \‘\13 & Scalar m orass P'. i
(4) ||u x || = ||u||||7|| cos(€), where 6 is the angle between @ and . X s\ 6

(5) If (@ x U) - = 0, then the three vectors are coplanar\/ area 4_?‘&“&’?\'@ =0 .
(6) If 4 x U # 0, then the vectors 4 and 4 x ¥ are parallel.x ", 'Ihﬂ wou\d bg __L .
Answer

A. (4) and (5) C. (2) only E. (1) and (6)

B. (3) only @(2) and (5) F. (1) and (5)
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9. What is the volume of the parallelepiped determined by the three vectors
= (-1,0,1), 7= (0,1,2) and & = (1,—1,1) ?

\l‘h. WJL\’N- Sco.lar b\up\e pvodru&
\,xw— (0,1, = (3,- - (-2), -y = (3,2,
(l -1, 0)

|- (Fyw)l = |(-1,00)° (3,2," |-3c0-1{ =Y

10. Which of the following is a parametric form for the line which goes through the point (1, 2, 3)
and is parallel to the planes with Cartesian equations 2x — 3y +4z =1and x —y + 2z = 27

2,3)+1(1,2,1) |1 €R} v
€ -
30)+t(210)|t€R} n,=(2,-3,‘-l) ﬁ;"(l,'lcl)
1,2,4) +(~2,0,1) | t € R}
2,3) + 5(2,—3,4) + £(1,—1,1) | 5,¢t € R}
2.3)+1(1,1,1) |t € R}
1,

T H U QW

(1
(2
(=
(1,
1,
1,

{
{
{
{
{ —3) +1(2,4,2) | t € R}

To be Parauo\ 46 \oo“n P\am \'n‘l‘b be a‘("f\e,or\d
Y v Gl w.d
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11. (3 points) Long answer question with two parts (a), (b)

(a) The following is the augmented matrix of a system of linear equations. Using Gaussian
elimination, and writing down each of the row operations that you use (in the form “3Ry+ Ry —
R,”, for example, as done in class), reduce the following system to reduced row echelon form

(RREF).
12 —1 | -3
[A|b] = [4 3 -9 | —2] 3
2 4 -2 —6 -
1 - ___3 | ~ \ Q -‘

~N l ) \ -2
-HRILR2 \o -5 -5 |10] -zR2|O ‘ -
~_ar\+#3 Lo o o |O 6 o ©

= _ )
- 2RAR| \C‘T\O o1

[ ]2
~J

| O 0 0 1G) RREF

Sahen . X-Dzel o K=\ADZ" \»:’;\:t
- yie -2 3—~3 2= —A”

=%
“mf«r«m)u

(b) Letting the variables of the linear system be called z, y and z, as usual, write down the
general solution to the linear system in vector parametric form, by filling in the following set

] [52): ] e )

)
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